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Q1 fioicar vmifoehdiel geier dean forer. 2
Write the next number in the given sequence. '

1.8 19,84 53 | |

Rough Work /&= &m



Q2 3, 7 fRar 11 3 wmT S @ iR gE R e ?

How many two digit numbers are divisible by 3, 7 or 11?

Rough Work /&= sm



Q3 9N &9 T / Simplify : _ 5
27 40 64 46 168 157

Lin b ol nis B 10045 o 4

Rough Work /&= %™



‘ Q4 123 71 i 37eh GEddie Iigedn S i SO fau=, TeUS! U STHIIEE! TR, ATTHTOr 4

In the three digit number 123, the sum of first two digits is equal to its third digit,
that is the digit in the units place. What is the maximum number of such three digit

numbers in which the sum of the first two digits is equal to the third digit?

Rough Work /&= %™



Q5 G ShHAR AT TUIHR 854700 3TE, T 1 HEAT T, 6

The pronct of two consecutive numbers is 854700. Find _thé numbers.

Rough Work /&= =M™



Q6 T TERE SR el I 37k e

Fill in the boxes in the following product sum.

B o= R

. FEE

B | .
> 7 2 0
ool e 4

____._.__—_._._.._—.—_.-—_._.,.-_—_.._...,..__.—___.__-.___._.—.——-—__——_——-—..—_._..———._.————.

Rough Work /&= &



Q.7 S 9 Al 2014 IR, A A TSR QIR 12 Job T T B, il w 5
eI U 5 e 43 <, T gk A9 5 ffR writ ved. . sireiiot watd staesat v are
QR TS IR T & I s qraadiei? ' '
On 9th February 2014, that is today, two clocks showed exactly correct time at 12

noon. One of them gains 5 minutes and the other loses 5 minutes daily. Find the -
earliest day on which the two clocks will again show exactly correct time at 12 noon.

Rough Work /&= &m



Q8 feorem sdiditer mfkdees ~BDC = wrg 3@,

From the information given in the figure, find the measure of ZBDC.,

—-—-———-—_-.———.————————.—_—-——-————.———-—-—_————_———._————

Rough Work /&=t sm



Q.9 A, B, C, DR 9N HHAR 31 R4 AH Tk 3ieh TohaT= aTae 11 Y 91T Sorsan, =R o, 5
fereft de TR B ?

A, B, C, D are four consecutive digits. How many four digité numbers can be formed,
using each digit once only, such that the numbers so formed are divisible by 11?

s — — —— — — — — — — G e G e e — — — — — — — — — —— ey T S G S — —



Q.10 A6 3B I 9 3h T 45 7 WO W W A 311 B =0 v = wd fenelt s, 5
A 6 38 B is a four digit number, divisible by 45. Find all possible values of A and B.

T TS ST S Y ST M cmme s e G e Gt e e —— — — — — — v— —o— — ——"— — — —— — w— o— — t— w— — — — v—

Rough Work /&= sm
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Q11 P,QR,S, T, Ud sk e siward amee, ® PQ x RS = TTUU  eid 11 3R 4

T, ® gREA. -
P,Q,R,S, T, U are all different digits. Show that PQ X RS = TTUU is never possible.

Rough Work /= %M
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Q12 2,3, 7,5%ﬁmuﬁﬁwmmmﬁ@ﬁﬁw‘yfaﬁmww, 5
T SR,

Many numbers can be formed using each of the digits 2,3,7,5 onl_y once. Show that,
none of these numbers can be a perfect square. :

——--——————._—._——__—_—————_———————_——-——————_.——_

" Rough Work /=) sm
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Q18. e Al IETE, T SR T S W R s f | 5
mmmmmamaﬁwmaﬁﬁﬁ%sﬁmwﬁr &
R e R NN

In the adjacent addition sum, the same letters are used for the 4
same digit and different letters are used for different digits. Find
out the digit in place of each letter and write the sum in digits. E

0

<< < <
HiHd =5 =H =
e n m m

Rough Work /&= %™
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Q14 T ST B S [ wie S B 3 STRd 3w, 4
Find out the digits in place of ¥¥ and [] in the following sum. '

32xOs=251
el 2 2

— e — e S G S S G D S Smee S S S SE S G G G G G S S— —— S S G S e e M S e S S e e m— —

Rough Work /&= &m
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Q15 @ &9 @ Simplify : _ g

59389 41909
102581 113753

— —— E— e —— S — — —— S G S S G S — S G S—n Gem . S e S G S GSm S e S e S G S S WSS S S——" S ——

Rough Work /= &m
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Q.16 AmB%wmwﬁwﬁﬂﬁwﬁw.Aam%wﬁmﬂsﬁmw 6
m.wmﬁamﬁasﬁmwﬁamﬁm1ﬁmﬁwaﬁtwmﬁaﬁamm
T T, W YEie I3 3w R, -
1) B 50 forft e éet demt A 71 et ofew sirder ?
2) A 75 frft SR e deet B w1 et ot sder?
3) & g Ve Rt Rawih dga?

A and B started walking from the same place, at the same time and in the same
direction. A goes a distance of 3 km on the first day and increased the walking distance

by 1 km every day. B walked a constant distance of 10 km every day. Answer the
following questions.

1) When B walked 50 km, how many km did A walk?
2) How much distance was covered by B when A covered a distance of 75 km?
3)  After how many days will they meet?

Rough Work /&= =m
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Q.17 mmmmlmaﬁéﬁnﬁammmﬁuﬁrﬁamaﬁm.mm 6
30%x30@ﬁ%wméﬁ.u@mmmmaﬁ5m&mﬂmuﬁﬁ 18 %.
T o R et orerter, @ Sher T Bt ey

A bolt, containing 24 meter cloth of 1 meter width was bought at Rs. 70/- per meter.
Out of it, handkerchiefs measuring 30 cm X 30 cm were made and sold at Rs. 18/-per

piece. The making charges per piece were Rs 5/- What was the percentage of profit in
the trade? ‘

———————.—_——__..———_—.———-—————-——-—_—_—_——_—_————
—— s — — — —

Rough Work /&= =m
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Q18 p ¥ T T HE AN n & T Fafiw Gen oy wien @A 21879 R, W p + 1 = 2000 6
38, T p I n A1 HE M. '

p is a prime and n is a natural number such that p + n = 2000. If the L.C.M. of
p and n is 21879, find p and n.

Rough Work /&= &m

18'%



Q.19 45854mé@mmmm%%a,mmmm».ma@mmmm.' 6
25973 1 HEA FHII TEHN AW Hea sl srEn Ao S0 wErE e

If we write the digits in 45854 in the reversed order, we get the same number. Such
a number is called palendromic. Find the smallest number, which added to 25973
will give a palendromic number.

Rough Work /== %m
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Q.20 12 1 FEdIeT SFEHTS TR 2 IR, 2 3 12 T, FORY TREAfier aiehi=aT oI i St Wi 5
STl AT FEAe kT ORI @ GEeT I STl 3TN GF 3R e et e ? .
The product of digits in the number 12 is 2 and 12 is divisible by 2. That is the
number is divisible by the product of digits in the number.
Find the number of all such two digits numbers which are divisible by the product of
their digits.

Rough Work /&= &m
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